I MATHEMATICSE

IMPORTANT MCQ’S - MATHS (10TH GRADE)

QUADRATIC EQUATIONS
ax’+bx+c=0

} [-b %= V(b2 - 4ac)]
. 2a
~ - —

QUADRATIC
EQUATICONS

>

~

-

To Download All Topics
https://www.hekorba.in/download

S~

This softcopy belongs to:

Heights Education | Top Coaching Institute in Korba -
Classes : VII, VIII, IX, X, XI & XI| . senellfglerel gl
Below Overbridge Korba - 8234027591 v SRR B ot

Material Curated by



https://www.hekorba.in/download

ll Eé Top Coaching Institute in Korba

HEIGHTS 2

Classes : VII, VIIL IX, X, XI & XII

Complet Details

SN

10th - Maths

According to Shridharacharya formula, the roots of azx? + bz + care given by -

_ —biVD — —b—vD
(c) BOTHAand B ( d) NONE OF THE ABOVE

Which of the following is a quadratic equation?
(a)m2—3\/5+2:0 (b)m—l—i:aﬂ2
(c)a?+ 5 =5 (d)2z% — 5z = (z —1)2

Which of the following is not a quadratic equation?
(a) 3z —x? =22 +5 (b) (z +2)* = 2(z* — 5)

(c) (vV2x +3)? =22% +6 (d)(z+1)> =32 + 2 —2

Is the following a quadratic equation? 2 + 2z + 1 = (4 — m)z +3
(a) YES (b)NO

Is the following a quadratic equation? 2z — 2 = 22 + 5
(a) YES (b)NO

Check whether the following is a quadratic equation: z(2z + 3) = z? +1
(a) YES (b) NO

Represent the following situation in the form of quadratic equations: The product of two

consecutive positive integers is 306. We need to find the integers.
(a)z® +2—30=0 (b)4z® + 5z — 306 =0

(c)2z® — Tz +306 =0 (d)z? +2—306 =0

Represent the following situation in the form of quadratic equations: Rohan's mother is 26
years older than him. The product of their ages (in years) 3 years from now will be 360. We

would like to find Rohan'’s present age.

Marks
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(a)z? +22 —27=0 (B)z? +32=0
(c)z2 +322—273=0 (d)2z2 +72—-23=0

State true or false: Every quadratic equation has at least two roots.
(a) TRUE (b) FALSE

State true or false: Every quadratic equation has at most two roots.
(a) TRUE (b) FALSE

Find the values of k so that the quadratic equation 2 — 4kz + k = 0 has equal roots.
(a)k=1ork = (b)k=20rk =%
(c)k=0ork = (d) NONE OF THESE

= o=

Find the values of k for which the quadratic equation 922 — 3kz + k = 0 has equal roots.

(a)k=0ork=4 (b)k=0ork=2
(c)k=0ork=3 ( d) NONE OF THESE

Does the following equation has 2 as a root? x? — 4z +5=0
(a) YES (b) NO

The quadratic equation > — 6z — 16 = 0 has sum of roots equal to 6 and product of roots

equalto___
(a) 16 (b)-16
(c) 22 (d) None of these
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The quadratic equation 2a° - V5x+1=0 has

( a) Two distinct real roots ( b) Two equal real roots

(c) Noreal roots (d) More than 2 real roots

The value of 'p' for which 3z% — 5z + p = 0 has equal roots is

(a) 2 (b) 35

( c) None of these

The product of two consecutive positive integers is 306. Form the quadratic equation to find
the integers, if x denotes the smaller integer.

(a)z? —2+306=0 (b)z? + 2 +306=0
(x> +2—306=0 (d)az? —2—306 =0

Find the values of k for which the quadratic equation 22 + kx + 3 = 0 has two real equal
roots.

(a) +2+/5 (b) +£2+4/3
(c) 36 (d) +2v6

Find the values of k for which the given equation kz? — 6z — 2 = 0 has real roots
(a) k> 22 (b)k < 3
(c)k>4ork < —4 ( d) NONE OF THE ABOVE

Find the nature of the roots of the following quadratic equation 22> — 8z +5 = 0
(a) Real and unequal ( b) Real and equal
(c) Notreal ( d) NONE OF THE ABOVE

Find the nature of the roots of the following quadratic equation 322 — 2v6x+2=0
(a) Real and unequal ( b) Real and equal
(c) Notreal ( d) NONE OF THE ABOVE

Find the nature of the roots of the following quadratic equation 1222 — 44/152 +5 = 0
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(a) Real and unequal ( b) Real and equal
(c) Notreal (d) NONE OF THE ABOVE

23 Find the nature of the roots of the following quadratic equation > — z +2 =0 1
(a) Real and unequal ( b) Real and equal
(c) Notreal ( d) NONE OF THE ABOVE

24 If the sum of two natural numbers is 27 and their product is 182, find the numbers. 1
(a) 13&14 (b)15&16
(c)17&14 ( d) NONE OF THE ABOVE

25 The sum of the squares of two consecutive multiples of 7 is 637. Find the multiples. 1
(a) 148&19 (b)14&21
(c)21&16 ( d) NONE OF THE ABOVE

26 A person on tour has rupees 4200 for his expenses. If he extends his tour for 3 days, he has to 1

cut down his daily expenses by rupees 70. Find the original duration of the tour. (in days)
(a) 1 (b)12

(c)13 (d) 14
27 The sum of the ages of aman and his son is 45 years. Five years ago, the product of their ages 1
(in years) was 124. Find their present ages.
(a) Man's present age = 37 years, Son's (b) Man's present age = 36 years, Son's
presentage = 19 years. presentage = 9years.
( c) Man's present age = 56 years, Son's (d) Man's present age = 36 years, Son's
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presentage = 9years. presentage = 19 years.
28 If a man walks 1 km/hr faster than his usual speed then he covers a distance of 3 kmin 15 1
minutes less time. Find his usual speed.
(a) 3km/hr (b) &4 km/hr
(c) 5km/nr (d) 6 km/hr
29 The product of two consecutive positive integers is 306. Find the integers. 1
(a) 16and 14 (b)15and 17
(c) 14and 16 (d)17and 18
30 .In a rectangular part of dimensions 50 mx 40 m 1

a rectangular pond is constructed so that the area
of grass strip of uniform breadth surrounding
the pond would be 1184 m”. Find the length and
breadth of the pond.

Grass Strips

(a) 34m,24m (b) 44 m,33m
(c) None of these
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